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Lecture — 80
6.10 Validating the learning - Walkthrough of RIL's Annual Report

Hi. Now you are familiar with various financial indicators which are used by the stakeholders
of the business to know about the financial health of the company. In this video | am going to
help you establish further that these indicators are, in fact, actually used by the companies as
well as external parties. In order to do that we are going to look at the annual report of Reliance
Industries Limited and see if they make use of any of the terms, any of the indicators, that we
have discussed.
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So let us get started. This is the table of content of the annual report of Reliance Industries
Limited for the financial year 2018 and 19. We have been using this report in this course
extensively. We are, first of all, going to look at key performance indicators. You look at the
annual report of any company. You will find these topics addressed in the annual report. First
of all, we are going to look at key performance indicators. So, we go to page number 4 and this
is what we see. Now, notice that this is the largest company in India and they are showing their
key performance indicators which they think, which they deem to be important, to be disclosed

to the public.
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The first indicator is called turnover. What is turnover? As we discussed, turnover is the
revenue of the company, the sales of the company. So this is the first most important indicator
of course. It has been going up: financial year 14-15, 15-16 and so on. This is the financial year
18-19. And these numbers show that the turnover of the company has been going up and it has
been going up continuously for the last 3 years. The next indicator is profit after tax. Well, do
you know what profit after tax is? Yes, you do. This is net profit after the taxes. Again, this
number is going up. Now you know what this indicator means. The next indicator is earnings
per share. Do you remember Earnings Per Share, EPS from the profitability indicators,
profitability ratios? EPS is being shown here. EPS is not actually in a very good position for
this company: they had a big drop in earnings per share in the financial year 17-18, but it has
recovered compared to the previous financial year. So, there you go. Earnings per share is
something that we are already familiar with. Earnings per share is the earnings available to the
equity shareholders, divided by the total number of equity shares issued by the company. These
are profit and loss metrics. So, this section shows profit and loss of the company, key indicators
which the company thinks are important. Of course, there are other indicators which are shown
in the balance sheet as well.

Let us now look at the second set of indicators which have been shown by the company; these
are called balance sheet metrics. From the balance sheet we know the company is going to talk
about assets and liabilities that they have. The first item is net worth. Now net worth is

something that we have not discussed explicitly, but you already know what net worth is. Net



worth, essentially, is the shareholders’ funds. Net worth is a very common word which is used
in the news or otherwise as well in the business world. In the balance sheet you have equity,
you have noncurrent liabilities, and current liabilities; on the other side you have noncurrent
assets and current assets. Both sides have a total which is equal, let us say this. Now, what is
the net worth of the business? If you pay off all the liabilities that exist in the business then the
money that you are left with is the net worth. Now what is it that you have to pay? You have
to pay these two external stakeholders: noncurrent liabilities and current liabilities. How are
you going to pay for that? You are going to pay for that by selling off your noncurrent assets
and converting your current assets into cash. After you sell your assets how much money are
you going to get? According to the balance sheet you are going to get 100. And then how much
do you need to pay towards noncurrent liabilities and current liabilities. Let us say this is 30
and let us say this is 20. So, total money that needs to be paid to these external stakeholders is
50. So, you are left with 50. What is this 50? This is the value of the equity. This is what belongs
to the owners of the business, this is the net worth of the business we know it by the name of
shareholders’ funds. So, there you go. Net worth is something that you already knew. It has

been just reframed as a different word, but now you know that as well.

Next up is debt to equity ratio. Well, you know what debt is and what equity is? Debt to equity
ratio is the ratio between this and this number: external liabilities and the internal liabilities.

For this company, this ratio has been going down, it has been going down year-on-year.

Then you have book value per share. Again this is something that we have not discussed, but
you actually know. It is very simple. | told you that there are some basic principles you need
to know, basic ratios indicators that you need to know, and then everything else is just the
derivation of that. This too is based upon what we have learned. Book value per share is nothing
but the net worth or the shareholders’ fund divided by the number of equity shares. There you
go, that is the book value per share as against the market value per share. So, this book value
per share is going up compared to last year but there have been higher book values in the past.
These are the balance sheet metrics which the company has disclosed on page number 4. This
is the front of the annual report. These numbers are supposed to be very important for this
company. And you already knew four of them directly and two of them you sort of knew which

| helped you understand further.

Let us go to the final section on the key performance indicators you have something called
shareholders metrics. What are these? The first metric is market capitalization. What is market



capitalization? Again, this is something which is used in the news articles, in the business
parlance very often. The market capital is nothing but the market price per share, which you
are already aware of, multiplied by the number of shares which the company has. There you
go. You already know what these two things are, multiply these two and you have market
capitalization. Now, as against the capital invested in the business as mentioned in the books
of accounts, which is here equity, or the money invested, market capitalization is the value of
the shares in the market: so these two are contrasting terms. Market capitalization refers to the
price of the share in the market multiplied by the number of the shares. So, this market

capitalization has gone up significantly in the past few years for this company.

Let us go to the last indicator in the shareholders metrics which is called dividend per share.
Well, you already know about dividend per share: this is the dividend declared to equity divided
by the number of equity shares in the company. Dividend per share again has experienced a
significant drop since the last 2 years, but compared to previous year it has gone up slightly.
So, this is the front page, page 4, of the Reliance Industries Limited and you see that of these
6 to 8 indicators, you are already aware of 5 and remaining you knew indirectly. You know all
of these things; we have discussed all of these things. Let me further take you to another section
in the annual report. We have looked at key performance indicators. Immediately after that you
have a letter to the shareholders. This letter here is written by Mr. Mukesh Ambani addressing
all the shareholders. Let me just read through some of the selected text, to indicate to you that
these ratios, these indicators, these terms that are being used in the financial reports, you can

read and understand these terms.
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Let me first look at this section in the first paragraph, there are some terms being used.
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Let me zoom into it. This is what this text says; there is a lot of other text but I want you to
focus on this term here. He says consumer business witnessed phenomenal growth in terms of

revenues and profitability with Reliance Retail and Jio now collectively contributing nearly 25
percent of the consolidated segment EBITDA.



Now, what is this EBITDA? In EBITDA, you are already aware of the first 4 letters here EBIT:
Earnings Before Interest and Tax. In addition to that we have added two more letters DA which
means depreciation and amortization. Let me use this income statement for example. You have
cost of goods sold, employee benefit expenses, depreciation, then you have the finance cost,
depreciation, and amortization. | will clarify what this means, then you have tax and then
finally, you have net profit after taxes. So, cost of goods sold, let us assume 50, employee
benefit expenses, amortization, finance cost, tax, and then you have your net profit which
comes out would be 25. So, 25 is the net profit for example. We know what is earnings before
interest and tax, earnings before interest and tax would be that you look at only up to this. This
is the interest and this is the tax. Do not deduct these from the profit. If you do that then you
have EBIT which is equal to 35. These two 5 have to be added back or from 100 you can just
deduct 65 (i.e., 50 +10+5). So, you are left with 35: this is earnings before interest and tax. If
you have to calculate earnings before interest, tax, depreciation, and amortization, all you have
to do is not consider this 5 only go up till this point. So, you will have an EBITDA of 30. The
reason for using this number is that the company wants to indicate that although EBIT is the
total earnings of the company, after which the earnings are distributed to the lenders and to the
shareholders, the depreciation and amortization are not paid to anybody. Depreciation is on
fixed assets, amortization is on intangible assets like patents, trademarks and copyrights. So,
depreciation which is charged on intangible assets is called amortization, so just a different
name for depreciation. So, do not worry too much about what amortization is. These two terms,
depreciation and amortization, are not paid to anybody. So, this cash is in the business. This is
just a noncash expense which the tax authorities allow us to deduct before we calculate the tax
amount. Therefore, they are showing EBITDA, because that is the cash that they receive, cash
profit that they receive, that they earned during the year. Hence, this number is significant. So,

you know now earnings before interest, tax, depreciation, and amortization, what it means.
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Let us move forward. Let me look at another paragraph. Let me zoom in this text. It talks about
some things and then says net profit of this much. We know net profit means net profit after
taxes. So, you know these jargons, these terms are used with a very specific technical meaning.
Somebody who has not gone through this course, has not undergone this discussion would
generally assume that incomes minus expenses is profit. But the net profit means that you have

taken out the finance cost, the taxes, all the rest of expenses as well. Again, you are aware of
this term very well.
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Further let me look at another paragraph in detail there and you have this word turnover. What
is turnover? Turnover is the sale. We have done lots of turnover ratios and efficiency ratios as
well. The word turnover refers to sales of goods and services by a company and here it says
Reliance business continues to scale new heights, achieving two important milestones during
the year. Number 1 is crossing the turnover mark of 1,00,000 crore and the store count of
10,000. So, whenever the term turnover is used, we know it is referring to the sale. Again, I am
emphasizing that you are now familiar with these terms. even the owners of biggest companies
in India are using these terms and you can now more easily read these statements and know

what it means.
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There is a following page to this address and there is another paragraph which I am going to

zoom in on.
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And here it says the refining and marketing segment reported a decrease of 19.8 percent year-
on-year which means compared to previous year EBIT well earnings before interest and taxes
that you already know. So, | am not going into details of what this paragraph means, what is
this marginal environment and all those things, because those words are sector specific, related
to petrol petrochemical industry or oil and gas industry. That is not the purpose, the purpose of

this discussion is to show you that you are familiar with the financial terms being used.
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So, in the annual report you can further to the page on financial highlights. Till now we have

looked at page number 4 and page number 6. Now in the financial highlights the company
gives more details.
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There are financial highlights of Reliance. Standalone means Reliance alone and not the
multiple subsidiary companies in which Reliance has invested; when you look at the results of
the whole group you call it consolidated result. I am looking at Reliance’s standalone only
Reliance company’s results not its subsidiaries. So, there are two sections to it, some key

numbers here, and then some indicators, some ratios after that.
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Let us first look at these numbers. So, what do you have here? Of all this list, | bet you know
90 percent of the items already if not 100. VValue of sales and services: well, you know it. Value
of sales and services includes the number of units sold, multiplied by the market price, the price
at which they are sold which also includes the tax, the GST that is collected by the company.
The total income, on the other hand, includes the value of the services minus the GST, the
actual income plus the other incomes, the non-operating incomes that the company has. So,
this is the total income, you have taken out the GST amount that is why this number is lower
than this now. Then you have earnings before depreciation interest and tax. Earlier, Mr.
Mukesh Ambani had used EBITDA, this term now they are using it differently. So, all I am
saying is do not get bogged down by different fancy terms or acronyms being used. You know
this means the same thing: earnings before depreciation, finance cost, and tax expenses, same
thing as the EBITDA. So, it is just that the acronyms have been moved here and there. Then
you have the amount of depreciation. Profit for the year is a net profit. Equity dividend
percentage: this is the percentage dividend which is paid to the equity shareholders, again we
know this. Dividend payout is something which we have not discussed. Dividend payout
simply means the dividend declared or paid out as a percentage of the earnings which were
available to equity shareholders, that is it. So, dividend payout has a specific meaning. You are
going to pay out the dividend from where? From the earnings available to equity shareholders.
How do you figure out the earnings available to equity shareholders? You have the net profit
after tax and you take out from it the dividend to be paid to preference shares and you have the

earnings available to equity. Out of this, the board of the company will pay out some part, let



us say, 50 percent of the earnings available to the equity shareholders are being disbursed or
distributed as dividend to equity shareholders, that is what is dividend payout ratio. Again,
nothing fancy: we already know how to find out the dividend declared and what are the
earnings. So, you can just divide those numbers. Again, another variation of this can be
dividend per share and you divide it by earnings per share, same number. Basically numerator
and denominator both have been divided by number of shares. So, using both the ways you can
figure out dividend payout ratios. So, this was one ratio which you did not know. You know
what is equity share capital, you know what are reserves and surpluses, net worth is equal to

shareholders’ fund, we have discussed this earlier in this video.

Gross fixed assets do not include depreciation so it is the cost value or the cost price of the
assets. Net fixed assets are equal to gross fixed assets minus the depreciation. Total assets are
equal to the total of the balance sheet. Market capitalization is the number of shares multiplied
by the market price per share. We have discussed that before. Number of employees and
contribution to the exchequer is the tax that you pay in different ways. There you go. Out of

the key indicators you did not know only one, that is it. You knew all the rest of the indicators.
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Now, there was the second section on the ratio, so let us look at that now. Here in this section,
you have earnings per share. Do you know what EPS is? Yes, you do. Then you have excluding
exceptional items. So, just ignore this. Again, some advanced items may be there. If | can

address it quickly, there can be some items which are not regular to the course of the business.



So, you take out those items. You show those items in the income statement: we have not
looked at that section yet. So, I am not going into that much detail. Next is turnover per share.
Now what is this turnover per share? Not heard of it. Turnover is the sale; you divide it by
number of shares and you have turnover per share. Pick any number: current assets per share,
debtors per share, cash available per share. So, you could do any of those numbers as long as
it makes sense. So, turnover per share, you can figure it out very easily. Book value per share
is equal to the shareholder funds divided by the number of shares. We have discussed this
earlier as well or this is also called net worth per share. Then we have a debt to equity ratio.
You know it very well. You have EBIT divided by gross turnover. Just divide it by the sales
number to say what percentage of the total revenue finally translates into earnings before
depreciation interest and tax that is what it means. Net profit margin is the net profit ratio, that
is it, just slightly different from the name being used. Then you have a return on net worth. So,
let me bring it here return on net worth. What is net worth? Net worth is shareholders’ funds.
So, we are talking about return on shareholders’ funds and in the previous videos we spoke
about return on investment and the investment was from the point of view of equity
shareholders and equity shareholders invest the shareholders’ funds. So, these three mean the
same. The nomenclature can vary but the components essentially remain the same. Then we
have a return on capital employed. We have discussed this capital employed. Let me take it
here, capital employed means shareholders’ funds plus the noncurrent liabilities. All the long-
term funds taken together. You use these as the base to figure out the profits to figure out the

percentage margin on this base that is it.

So, you knew all these numbers. So, even in this section in the annual report you are familiar
with most of these except for one which | have explained to you. Let us move on to another
section which is called management review and management of the company is now doing
some discussions on the financials and presenting some analysis. Let us look at the numbers

that they are presenting.
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What are they presenting? They are presenting consolidated and standalone,e both. So, are
bothered about what is consolidated and standalone. Let us look at only consolidated for now.
So, they show sales. We know by now that they use P instead of E: it does not matter earnings
or profit before interest, depreciation and tax, it means the same thing. EBDIT can be the same
thing. Now, a new thing is cash profit. What is cash profit? Cash profit means that you are

going to use sales and you are going to take out from this the expenses. But only cash expenses,



not the expenses which have not been paid. When we talk about cash flow statement, we will
discuss how to calculate cash profit. So I will defer this discussion to later when we talk about

cash flow statement which is another way of analyzing financial statements.

Then you have segment EBIT. We know what is EBIT. Segment refers to different segments
that the company has, business segments that the company has. So, not necessarily a financial
term, net profit we know cash in marketable securities we know this is a current asset.
Marketable securities refer to the investments of the company which can be sold readily and
converted into cash. Then you have tangible and intangible assets. There you go. You know all
of these things: you have gross debt, debt refers to the noncurrent liabilities of all the loans
taken together. To go along with these there is some commentary which you can read through
and they are referring to only these numbers. The interpretation again is a deeper discussion on
what they are writing here. Is that correct? Can you question that? And so on. That is something
you develop over a period of time. But what you learn in this course is the definition of these

technical terms which are being used.
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If we go to the next page, they also talk about in the same analysis discussion that has been
presented by the management, they talk about the other incomes and they talk about some
exceptional items because these may not be regular incomes of the business, so these are shown
as well. Then we have finance costs. We know what finance costs are. These are the interest

expenses on the loans taken by the business and it says that 16,495 crore against the previous



year which means the finance cost has gone up. The increase was primarily on account of
commencement of digital service business, petrochemical projects at Jamnagar, and higher loan
balance: they have taken more loans. They are explaining the reasons for changes in some of
these items. They are giving the details of what all was in depreciation: you have EPS and now
they are using basic EPS. So, there are two terms: basic EPS and diluted EPS. Again, I do not
want you to get confused there, ignore it for the time being. Once you are comfortable with
these terms then you can read up more and it is not going to be difficult to distinguish between
basic and diluted. But little advanced discussion for this course. Then you have a dividend
which was recommended 6.5 rupee per equity share of 10 as well. We know about all of these
things: fixed assets are given and this is consolidated. So, they are adding their subsidiaries

assets as well.
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So, that is it we have looked at the annual report and we have looked at 3-4 sections. In all the
sections we know 90 percent of the content, of the financial terms being used by the owners of

the company, the board, the management team, of the company.

Well, you are all set to read these statements and evaluate and verify your understanding on
your own. Let me answer one more question in this video which is that although the annual

reports are using these terms, if 1 go to business websites will | see these terms? Yes, you will.
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So, I went to businessstandard.com and looked for Reliance Industry Limited’s profile and then
| got these numbers. You could Google business standard, when you go there you have a search
box, you put in Reliance Industries Limited and you will have these details. Any such similar
websites will have these items picked up from the final accounts. The income statement and
the balance sheet, you are familiar with all these terms: operating profit which is something
that we learned during the analysis of the statements. Net worth means shareholders’ funds, we
know about this. And then finally we have some ratios that they have shown: operating profit
margin you know it, net profit margin, earnings per share, dividend percentage, dividend
payout, you know all these terms. So, yes, the business websites will also show you similar

numbers.
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Now, let us talk about the news articles, do news articles also talk about these numbers? So, |

am going to pick up one recent article here.
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NEW DELHE: Ry ce Industries (RIL) on Thursday reported a 38.73 per cent year-on-

year (YoY) fall in consolidates'net profi at Rs 6,348 crore for the quarter ended March 31, RELATED VIDEO
Bottomine of RIL took  hit due to an exceptionalloss of Rs 4,267 crore during the

quarter

1
Analysts in an ETNow poll had projected the profit figure at Rs 10,500 crore. -
For the financial year ended March 31, net profit decined marginally 0.59 per cent YoY to
Rs 39,354 crore. The figure stood at Rs 39,588 crore st year.
Consolidated revenue of the company declined 2.50 per cent YoY to Rs 1.51 lakh crore.

Reliance Industies company also announced Inda's biggest ights issue of Rs 53,125
crore in the raio of 1:15 ata price of Rs 1,257 per share. “The rights issue will enable:
particpaton of allshareholders in the growth business of RIL. Promoters wil Sbscribe.  pes aTeD CoMPAMEES 200
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their full entitement of the rights issue and aiso 1o all e unsubscrbed porton.”the oikio-
telecom major said. L]

Commenting on the resuis, Mukesh Ambani, Chaman and Managing Director Refance 8 08
Industries, said, “Despie the daunting challenges arising from the fallout of the global

pandemic, our company has once again delivered a resilient performance for FY 2019-20.
Our 02C (Oil to Chemicats) businesses delivered sustained eamings due to &s integrated

portfolo, cost-competiveness, feedstock flexibiity and procuct placement capabiities. We
continue to operate all our major facilies at near normal utilisation levels.”

B EEES R

I have an article from the economic times which says Q4 results: Q4 refers to quarter 4 this is
the 4th quarter of the financial year 2019-20, so March 31st 2020 is the quarter 4 ending. The
title says profit plunges 39 percent year-on-year to this much amount and misses street
estimate; street refers to the stock market, Dalal Street. So, news people will either glorify or

use very fancy terms which you will pick up as if you continue to read such articles. But let us



look at what this means. So, Reliance Industries on Thursday reported a year-on-year fall in
the consolidated net profit; we know what is consolidated, we know what is net profit for the

quarter.

(Refer Slide Time: 31:23)
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portfolo, cost-competitveness, feedstock flexibiity and product placement capabilties, We
continue to operate all our major facilies at near normal utisation levels.”
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Gross refining margins ncreased fo $8.90 per barrelin Q4FY20) over $8.20 per barrelin Q4FY19. Howeve, he figure stood at $9.2 per
barrel in the preceding quarter ended December 31

The firm recommended a diidend of Rs 6.50 per equity share for the financial year ended March 31
RIL said the falout of coronavirus outbreak on economic activity senvices secors during

the quarter. Giobal ol markets witnessed signiicant voatity on account of demand destrucion and excess suppies. Lockdowns and
travel restrictions in most geographies led to steep fal intransportation fuel demand.

Telecom Business
RiL's telecom arm Refiance Jo Infocomm reported a 177.50 per cent YoY and 72.70 per cent QoQ growth in net profit at Rs 2,331 crore.

Its subscriber base grew 26.30 per cent YoY to 387.50 milion, with each user spending an average of Rs 130,60 a month during the
quarter, the company said i a siatement

“Jois embarking on the nextleg of growth with a path-efring parnership with one of e word'sLargest digtal companes, Facebook.”
said Mukesh Ambani

Zerodebt plans.

Economic times analysis had projected a different profit figure, so that is why they are shocked.
Next up they say the financial period ended..., consolidated revenue of the company- we know
what is the revenue of the company. Reliance Industry company also announced India’s biggest
right issue; right issue is issue of shares. But again, an advanced topic: | am not going to touch

upon that in this course let us ignore this.



(Refer Slide Time: 31:47)
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5242020 RIL Q4 results: Profit plunges 39% YoY 10 Rs 6,348 crore, misses Street estimates - The Economic Times

s at Rs 1,75,259 crore.
19,

RIL's outs 1 as of March 31, 2020 stood at Rs 3,36,204 crore, while cash and cash equivaler
Outstanding debt was at Re 3,06,851 crore as of December 31, 2019 and Rs 2.87.505 crore on March

The company s expected to complete the capal raising programme totiing over Rs 1.04 kakh crore by Q1 of the current financial year.
This includes the investment by Facebook in Jio Platforms, the upcoming rights ssue and the previous invesiment by Britsh Petroleum
nFY2019:20

In addition to the Facebook investment. the company has received sirong interest from other sirategic and financial investors and is
ikely to announce a similar sized investment in the coming months.

"With a strong visibty o equity infusions, the board was informed that RIL i set 10 achieve net zero debt status ahead of s own
agoressive timeline,” ¢ said

Segment-wise topiine breakup
Segment wise, revenue from petrochemicals and refining and marketing business deciined 24.10 per cent and 3.4 per cent YoY to Rs
32,206 crore and Rs 84,854 crore, respectively. Revenue from the ol and gas segment sigped 41.50 per cent Yo to Rs 625 crore.

On the other hand, revenue from digtal services and retail business increased 30 per cent and 420 per cent Yo to R 18,632 crore ad
Rs 38211 crore, respectively.

‘Decrease in we is primarily on account of 10.1 per cent decine i revenues of refining and petrochemicals business. Sharp fall of
205 per cent YoY in average brent o price ed to lower product price realsasion across the hydrocarbon chain, This was partaly offset
by contining growth in consumer businesses, even amict the operational issues posed by the pandemic,” RIL said

Stay on top of business news with The Economic Times App. Download # Now!
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Let us move on to further paragraphs to see if they are using these terms. Gross refining
margins- refining refers to their business segment which is refineries, gross margins in the
refinery segment, they have improved. We know what gross margins are, we are talking about
gross profit here. Next up, the firm recommended a dividend per equity share. We know what
a dividend per share is. Let us move forward. Again, they report net profit; we know what is
meant by net profit. Subscriber base is not a financial number so we will just move forward.
Then we have outstanding debt, outstanding means something which is to be paid, debt means
the noncurrent liabilities. Again, these numbers are not something that we do not know. Cash
and cash equivalents are the absolute liquid assets cash balance, bank balance, marketable
security. So, you know this as well. Then you have segment wise breakdown and they are
talking about year-over-year growth in the revenues. Actually, news articles are less technical
unless they are reporting a specific issue. So, they will talk about something, they will use some
words specific to the industry, specific to the economy, and then make a commentary on net
profits, they are not even going to EBIT. So, the bottom line is that you know all of these terms.
Now you should be comfortable reading the annual reports of the company which are more
technical compared to the news articles in the press.

Let me stop here, | will see you in the next video.



